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1. Chemicals which are released at the synaptic

junction are called

A. hormones

B. neurotransmitters

C. lymph

D. cerebrospinal fluid

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_A2KN07mH6A45
https://dl.doubtnut.com/l/_M1nS2cJy2gzv

2. Potential difference across resting
membrane is negatively charged. This is due to

differential distribution of the following ions.

A.Na" &K ions
B. CO (3++) & Cl”*-ions
C.Cat"&Mg™ " ions

D. Ca”(+4) & CL*- ions

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_M1nS2cJy2gzv
https://dl.doubtnut.com/l/_qyiwfaH8sLtn

3. Resting membrane potential is maintained

by

A. hormones

B. neurotransmitters

C.ion pumps

D. none of the above

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qyiwfaH8sLtn

4. The function of our visceral organs is

controlled by

A. Sympathetic and somatic neural sys-tem

B. Sympathetic and para sympathetic

neural system

C. Central and somatic nervous system

D. None of the above

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_U8TEtdZfCiiZ

5. Which of the following is not involved in

knee-jerk reflex ?

A. Muscle spindle

B. Motor neuron

C. Brain

D. Inter neurons

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_U8TEtdZfCiiZ
https://dl.doubtnut.com/l/_NfJWlK7LRU0B
https://dl.doubtnut.com/l/_xnqq97jFlElb

6. An area in the brain which is associated with

strong emotion is

A. cerebral cortex

B. cerebellum

C. limbic system

D. medulla

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xnqq97jFlElb
https://dl.doubtnut.com/l/_cd43ojjpt0d0

7. Mark the vitamin present in rhodopsin

A.Vit. A

B.Vit B

C.Vit.C

D.Vit.D

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_cd43ojjpt0d0

8. Human eye ball consists of three layers and

it encloses

A. Lens, iris, optic nerve

B. Lens, aquous humor and vitreous humor

C. Cornea, lens, iris

D. Cornea, lens, optic nerve

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_HIHGZjClbs6r
https://dl.doubtnut.com/l/_NRKzyA4nf4RW

9. Wax gland present in the ear canal is called

A. Prostate gland

B. Prostate gland

C. Cowper's gland

D. Sebaceous gland/ceruminous gland

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_NRKzyA4nf4RW

10. The part of internal ear responsible for

hearing is

A. cochlea

B. semicircular canal

C. utriculus

D. sacculus

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_hMVe4t303nCN
https://dl.doubtnut.com/l/_u4xn5Dz8ZTgB

11. The organ of Corti is a structure present in

A. external ear

B. middle ear

C. semicircular canal

D. cochlea

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_u4xn5Dz8ZTgB

